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 ��#��� 4��, &��' � �a$D6�  S
�.� ���'�$* &��' � �� +��� ��# �+��(�5�% �
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�� .                   /.���$� ���(�% �� <I�G�� �% 2�$* &��' � 4%�5 ��=�� 4��� &��' � ���>?��� �� �� �
�* l
�>� ��'�$��$'*� �a
���
���� �
 �8$� ��?!� �% ��>?��� � 
�$�+??� �� /M��� . 4",)b (+#
 �� <�>� �� &��' � +?
��R �� ��� ��(,.

A84<���  ����& /� %1
 (��4 ����

�� 2*� ���!) �%�� +�G�� �
 /% <I�G�� �% �%�� <$�*�+�G�� �?���:
C + O٢ = CO٣٩٣/� + ٢  Mj/(kg mol) (b)
١ kg mol C+ ١ kg mol O١ = ٢kg mol CO٢
١٢ kg C + ٣٢ kg O٢ = �� kg CO٢

�
��
 =�� <���+�# &��' � ���% /%�>� �$N /%:
H٠/� + ٢  O٢ = H٢O (ر �ب���) + ٨/٢�١  Mj/(kg mol)  (p)
١ kg mol H٠/� + ٢  kg mol O٢ = 1kg mol H٢O

٠١�/٢  kg H2 + ١� kg O2 = ٠١�/١٨  kg H٢O
�
��
 /%�>� �$N /%:

S + O٢ = SO٢ + ٩/٢٩�  Mj/(kg mol)  (i)
١ kg mol S + ١ kg mol O١ = ٢ kg mol SO٢
٣٢ kg S + ٣٢ kg O٢ = �� kg SO٢

      4.�!5 �� &��.' � 4.%�5 ��=.�� ���.  ���� ���'�$*H2 , CO , CH4CnHm , 4��., C4H10 , C3H8 , C2H6 +?'G.#  .
            +�$, �� /',$� �8$� ��?!� �% ���� ���'�$* &��' � ���% ��'�$�� $'*� �a
��� .     /� 2*� �
� �' ��bdd   2�$* �� A$� 
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                   �.� ��a�.% ���?%�� ��+�# � <�'� 7�%�� +�G��$?� 7<���+�# &��' � ���% �� �8$� ��?!� �% �
� ��'�$��$'*� �a
���
2,$� <�$�:

H٢ + �/٠  O2 = H٢O +  ٨/٢�١  Mj/(kg mol) (j)
١ mol + �/٠  mol = ١mol

CO + �/٠  O2 = CO٢٨٣ + ٢ Mj/(kg mol) (P)
١ mol + �/٠  mol = ١mol

CH�+ ٢O٢ = CO٢ + ٢H٢O (g)
١ mol + ٢ mol = ١ mol + ٢ mol

CnHm + (n + m/�)O٢ = nCO٢ + m/٢H٢O (r)
١ mol + (n + m/�) mol = n mol + m/٢ mol

�B/C (�)D� (�)* :
 +  ��+9�   2*� ��'�$��$'*� ��$# �
 ��$s� ��$# 7 2�$* H�� + �� 	
 4��� &��' � ���% H�a ��$# 45� .  �� �$.# �
�

   
�� /!*�6� A$� �
 H�� ^�*� �% <�$� �� .      ���.� ���'�$.* ���.% �8$.� ��.?!� � S
�� � +��� ���'�$* ���% H�� ��?!�
+�$, �� �
�
 l���� . 72�$* H�� /% &��' � ��$# H�� 2!G�
$, �� �+���� 2�$* /% �$# 2!G�:

AF = m �$#/m 2�$* ( kg �$#/ kg 2�$*) (t)
     ��'�$�� $'*� B%��� ��?!� �%c �a
��� �?�
 )b ( �)p ( �)i ( :G  �% ��$s� 2�$* /% �$# 2!G�kg   	>.� ��$.# 

�%kg
$, �� �
�
 �
� ��$` /% 2�$* :
AFt = ١/ ٢٣٢/٠ [ �٧/٢ C + ٩�/٧ H + S - O] = �٩/١١ C + ٢٢/٣� H + ٣١/� (S - O)    (O)

      <E �
 /�O,S,H,C            +?'G# S
�� �
 +��� 2�$* �
��� 4��6� � /
=V� �
 ���� ��#�G� .    	>.� ��$.# ��$s� �V 
 <+���$* ���% H�akgb �� 2*� ���!) S
�� �
 +��� 2�$* :

Va,t = AFt/ρه4ا (m3/kg) (bd)
 <E �
 /�ρ'�G��
  
��+��'*� B
��, �
 �$# /)kPa , 0 C٣/١٠١ ( �% �%��% �kg/m3pOi/b2*� . ��$s� ���8$� 
�+��

 4��� &��' � ���% H�a <I�G��bdd \�3 �% � 
$, �� /!*�6� a�% �
 �+, �
�
 ��'�$��$'*� /8
��� �� ���� 2�$* A$� 
 2!G� �
rg/j=pb÷bdda ��$s� ��$# +
E �� 2*+% H�:

AFt,m = ٧�/� [ �/٠ (H2 + CO) + ٢CH� + (n + m/�) CnHm – O٢]           (bb)
    <E �
 /�O2,CnHm,CH4,CO,H              <I�G.�� � 7��a�% ���?%����+�# 7<�'� 7�%�� +�G��$?� 7<���+�# �8$� �G� :���� /%

   +?'G# ��� 2�$* �
 .     �G� 
��+��'*� B
��, �
) 2�$* A$�/ �$# A$� (�%   �G� �%�%�)�V 2�$* / �$# �V  ( +,�% ��.  v�.R
 /� 2*� �
� �%H2S2G�� 
$�$� ��� 2�$* �
 .

�%&�'� (�)* !EF
 :

$, �#��R ��$s� ��+9� �% ��[) �R�3� ��$# ��+9� 	
 +
�% 4��� &��' � /% <+�*� ���% . ��5�� 2�$* /% �$# 2!G�

AFa�$# +`�
 �
 �R�3� ��$# 2!G� :G  �% a$(�� 

�� �� <��% �R�3� � . ��5�� 2�$* /% �$# 2!G� ��G9� ��AFa �% 
 ��$s� 2�$* /% �$# 2!G�AFt) ��'�$��$'*�( �R�3� ��$# 2!G� 7)<
$% ;�5� :
�3 (λ
$, �� w
��� :

λ = AFa/AFt (bp)


�� �� w
��� �
� ��$` /% �R�3� ��$# +`�
:
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 ��� ��������� ����� ��� � !���� ��"#
�$ 

�R�3� ��$# +`�
 = ١٠٠(λ-1)%   (bi)

 �R�3� ��$# 2!G�λ
��
 4�>� Z$� � ��$� � ��N 72�$* ��# /D_>� /% �W'G%  . �
��%�?%λ2�$* ���%  ����
b/bcdi/b ��% S
�� 2�$* ���% /� �8�  �
 �
$% i/b � g/b
��
 ���5  . �� ��� ��%�$� &��' � ��# /C�6� �
 /� �
�� �


��a�% �'  +��$�) 
�+ j (+,�% . ��$# 2!G� ����� <E ��
�
 ��� 4��6� � /
=V� �� <�$� �� �� ��$� 	
 �
 ��5�� �R�3�

��.

�B/C %GH�� (�)* :
 �� 2*� ���!) ��5�� 2�$* /% 	>� ��$# 2!G�:

AFa = λ AFt (bj)
 2*� �%��% 
$, �� /'R�� �C� �
 ��G(�� ��$# �
 
$�$� \E ��_% /� ��5�� 2�$* /% �� ��$# 2!G��%:

AFa,w = λAFt(1 + w) (bP)
 <E �
 /�w2*� 	>� ��$# H�� + �� �
 \E ��_% H�� �
 2%$N� 2!G�  . �+, �#��R \$N�� � 	>� ��$# �V 


$, �� �
�
 �
� ��$` /% ��$� ���%:
Va = λAFt/ρ�$# (bg)
Va,w = λAFt(1/ρ�$# + w/ρ \E) (br)

 <E �
 /�ρ � �$# ρ �% �%��% \E ��_% � �$# /'�G��
 :���� /% \E m3/kgpOi/b � m3/kgtdj/d+,�% �� 
��+��'*� B
��, �
 .
 �R�3� ��$# 2!G�AFa/AFt ��$# � 2�$* ���N$�_� ��% ����� �� 
$, �� /'R�� ��� /% ���� � S
�� ���'�$* �


 
$, x_>� �?y � ;�5� . @$�_� 7+,�% 	
 �� �'(� 2!G� �
� ���
$, �� �+���� ;�5� ��$` �
� ��y �
 � �?y.
c&��' � �a$D6� :

        ���  7 2�$* 	
 4��� &��' � �a$D6�O2,N2,SO2,H2O,CO2,NO22*� .         7
�
].0 ��$.` 4.��� ��y &��' � �'5�
     ���  ��?k(# ��
�
 ���CO   2*� /'�$G� ���?%����+�# �  . �a
��� 7��'�$��$'*� �a
��� ��)b ( ��)r (�+9� 7  ��=.�� �

       
�.� /!*�6� <�$� �� �� ��
�
 ��� .                     �a
�.�� �� S
�.� �.
 +.��� 2�$.* 	.
 4.��� &��.' � ���.% =.� �.# H�.� Fq.*
    �a
��� �?�
 ��'�$��$'*�)b (  ��)i (     
$., �.� 4.`�  /'�G.��
 �.% H�� ��G9� �� �V  Fq* � +
E �� 2*
 /% .  � H�.�

        $* 	
 ��'�$��$'*� &��' � ���% ��
�
 ��� ��=�� �V        A�+� �
 S
�� �
 +��� 2�)١ ( 2*� �+�E .     <���.'�� �.�� �V 
�% 2*� �%��% ��
�
 ��� �
:

VN2 = ٨/٠ N + ٧٩/٠ Va      (m3/kg)
�% 2*� �%��% B�6� ��$# 2%$N� �'R�� �C� �
 �% \E ��_% ��� �V :

VH2O = ١١/١١ H + ٢�/١ M + ٢�/١ wλAFt      ( m3/kg)     (bt)

 I� J)١ (J�  ��J !M)5 (���)�
)�5� ������ (��� 2
$�$ /�0 (�3J� (���N� � ���� O���
&��' � �a$D6� ��� 4��6� � /
=V�
�% �

�'�$* B
��, ��?!�
��$s� <I�G��

kg/kgkg/kgkg/m3

CCgr/pCgr/iCtgr/b
HHOj/rHOj/tHbb/bb
SSSpgt/d
N-NNt/d
OO-c
 2%$N�(M)-MMpj/b
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 ��� ��������� ����� ��� � !���� ��"#
�$ 

�% 2*� �%��% ��
�
 ��� �
 <I�G�� �V :
VO2 = ٢١/٠ (λ-1)Va     (m3/kg)

�� �
� �
λ �R�3� ��$# 2!G�)<
$% ;�5� :
�3(7w :G �% &��' � ��$# 2%$N� 2!G� kg/kg) (و ،Va �V 
 �# ���% ��5�� ��$#kg2*� 2�$*  .�� <�$� �� =�� �� ��
�
 ��� ��=�� ���8$� 
�+�� ���8$� 
�+�� n �D?) N,O,S,H,C 

 �# �
kg
�� /!*�6� 2�$* =�8��E �
��� 4��6� � /
=V� �� 2�$*  . 
�+�� ��
�
 ��� �
 � 2�$* �
 �D?) �# �8$� /���$�
+
�(� �� x_>� �� ��
�
 ��� ���8$�.

   �
� ���� �V ) :G  �%m3/m3
��+��'*� B
��, �
 ��� 2�$*  (��� 2�$* 4��� &��' � �
  �R�.3� ��$# �% �)  ���.%
λ>1 ( 
$, �� 4�">�.]�[

VCO٢ = CO٢ + CO + CH� + nCnHm (pd)
VN٢ = N٢ + ٧٩/٠  λAFt,m (pb)
VO٢ = ٢١/٠ (λ-1)AFt,m (pp)
VH٢O = H٢ + ٢CH� + m/٢CnHm (pi)
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Vg = VCO٢ + VNO2 + VO٢ + VH٢O (pj)
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$, . ��
$% �����  2�R�z
$, �� ���� ���+�� ��� $��� :G  �% � 
$, �� w
��� +��� ����� ����� <�$?) /%:
Qb = ms∆hs + mrh∆hrh + mat∆hat + mbd∆hbd (pP)

    <E �
 /�m          � ��
$% 4��
 �
 \E �
 ��_% H�� <�
�� ��� h∆   2.*� \E �.
 ��._% �q8�'�E �����  .   ���G.
$� �.
�bd,at,rh,s  /.% 
  +??� x_>� :����            +?'G.# ��.����� 	
 �
 <
�� Y$��� � ��
 �+??� ��K?� 7�+??� H����% 7��_% +8$� � .   ��._% 2.�R�zms

 :G  �% +8$� �
 ��_% +�8$� ���kg/hr2*�  .
$, �� �
�
 �
� ��$` /% ��
$% 2�$* h�D�:
mf = Qb/(HHVηb)            (kg/s) (pg)

    <E �
 /�HHV    �
a�% �����  Y��� ��+9�     � 2�$* ηb 2*� ��
$% <��+���  . ��?!� �% ��
$% <��+���HHV   2.*� �.%��% 2�$* 
�%:

ηb= 2�$* ��� �
��� �����/4��) A��* /% �+, /R�3� ��� �����*١٠٠ (pr)
 �
:

 ηb = ١٠٠ * (١- ��� �����  h[�� / 2�$* ��� �
��� ����� )      (pt)
�
:

ηb = ١٠٠ * (HHV - q +NOPا) / HHV % (pO)
	>..� ��..� h[..�� 4��.., ��
$..% �
 ����..  �..�� ��..�R[��(DGL)2..%$N� h[..�� 7(ML) ��$..# �
 2..%$N� h[..�� 7 

�5��' �(MCAL)  ،  4����� &��' � h[��(ICL)،   /'�$G� �%�� h[�� (UCL)     �
 �.�R[�� �.W

 �.
 ��>.�>� h[�� /� +,�% �� 
+�� �+>� /'R�� �C� .�� h[��
$, �� �
�
 �
� ��$` /% 	>� �:

DGL = mdgCpg(tg-ta)      (kj/kg) (id)
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 <E �
 /�mdg  = AFa,d + 1- R - M - 9H  72�$.* H�� $��� �# �
 ��
�
 	>� ��� H�� $��� AFa,d   ��$.# 2!G.� 
           H�� $��� �% �$# H�� $��� :G  �% ��5�� 2�$* /% 	>�  72�$*Cpg     
 	>� ��� �I
� �����      �.% �.%��% �.�
�kj/(kgK)

dP/b  7R           7 2�$* H�� $��� �# �
 �+��� F0 ���� �G� M    72�$.* �
 2.%$N� �.��� �G� H    �
 <���+.�# �.��� �G.� 
  72�$*tg          � 7��
$% �� �+??� ��� ��
�
 ��� ���
 ta 2*� ��
$% /% �
��� ��$# ���
  . 2�(� �
�R   
��� ��$.� 4.��
 /% /� 

�� 2*� ���!) 7
$, ��:
R  = 2�$* H�� / �+��� F0 H�� = A/Af            (ib)

    <E �
 /�A     � Af            +?'G# �+��� F0 �
 � 2�$* �
 �'G��� ���� �G� :���� /% .       �� �
�
 �
� ��$` /% 2%$N� h[��

$,:

ML = (M  + ٩H ) ∆hm         (kj/kg) (ip)
 <E �
 /�∆hm�'G�* �
 2%$N� �I
� �q8�'�E ����� 2*� ��
$%  . ���iddtg>�
��
 7+,�% :

∆hm = ٠٩٣/٢ + ٢��٢ tg – ١٨٧/� tf      (kj/kg) (ii)
 ���tg<300 C+,�% :

∆hm = ٩٢ + ٢�٩٣�/١ tg – ١٨٧/� tf     (kj/kg) (ij)
 <E �
 /�tf2*� ��
$% �'G�* /% �
��� 2�$* ���
 .
�
 �
� ��$D% �$# &��' � h[�� �
 2%$N� 
$, �� �:

MCAL = AFa,dWCpw(tg-ta)      (kj/kg) (iP)
 <E �
 /�w � ��
$% �
��� ��$# 2%$N� 2!G� Cpw A
��� � \E ��_% �I
� ����� kj/ (kgK)Opg/b2*� .

�� 2*� ���!) 4����� &��' � h[��:
ICL = ٢٣�٣٠Cb CO / (CO + CO٢)      (kj/kg) (ig)

 <E �
 /�Cb = C- Cr 7 2�$* H�� �
 �+, /'�$G� �%�� H��C 2�$* H�� $��� �
 �%�� H��$��� )  4.��6� � /
=V�
�
��� (7Cr� 7��$� /% �+�$, /R�3� +��� F0 2�$* H�� $��� �# �
 /'�$G� �%�� H�� $��� CO � CO2   ��.!���� �
� 2C�y 
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+?,�% �� �� .�% 2*� �%��% /'�$G� �%�� h[��:
UCL = CrHHV �%�� = ٣٢٧٧٨Cr     (kj/kg) (ir)

  H��RUL                   ��� ���R[�� 4��, 7��]� ���R[�� ��?k(# � h��N� B�6� /% ��
$% ����� lK* �� �
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